1.

@ a+3>b+3 @ a-7>b-7
2 2%
® 2a > 2 @Ea—1>§—1

@—4a+1>—4b+1

B

B0 op] 22 52 Uit ME $E50 B v
M2 et P48 FokAL hrol= nhiztAolet,
®a<b W P £52 FobA LhrE 550 gFL

LIEileg

(¢




FAL HollA ek 7kz] 9] A= 3km oot FAIZF oF 8 Alofl M=
LA Al dkm 2 stz o7ttt =& A gobA EFol A&
8km O] &2 02 T A 8 A 30 2ol otulo] =2tstAT. FA 7t
g3 Ad=?

@ 0.5km @ 1km ® 1.5km

B

2e A2l xkm , T ALE ykm e} oHH
{x+y:3 (1)
x y 1
it5=3 O
(2)©] o] 82 B 20 +y =4 - (3)
2)-O)3d x=1,
x=1% (1)) fgstay =2
ek A7} el A2l 2k ot




TR 20 +3<3x, 5x+ 1> 6x—a®l TS EAL ],

a 9 3l WelE?

@ ax<?2 @a>2 ® a<3 @ a<3 ® a>3

B ~
5 BEX0] ZEF =, AYREAY o7t ZAFTHE Tl
2x+3<3x,3<x

S5x+1>6x—a,1+a>x

1+a>3

La>2




@ 2




ol ThFAo]A 3x— 2y + 12

wofof 3

5x—Ty+27F Stk o] ufl, vf2A A4t

- =

@‘x—3y @ -x-3y+1

@ —2x-y ® 3x-"Ty

B

o|H A& A=} SHH
A+(3x-2y+1)=5x-Ty+2

L (2x-By+1)-(3x-2y+1)

A=(5x-Ty+2)-(3x—-2y+1)=2x-5y+1

:—x_3y




BEMNpbx+1<5x-29 7 x>1< ), b o 2k2?

D -1 @ 0 ® 1 (@)2 ® 3

B

bx+1<bx—-2
bx —5x < -3
(b-5)x<-3
H5A o7t x>10]BE2 h-5<0,5b<5
P
5->b
3
55 "
Lob=2




